
pg |  1T W I S T E R T R I M M E R . C O M

Parts

Tools Needed

For addtional assistance with assembly, Keirton Technical Support is available between 7 a.m. and 7 
p.m. Pacific Standard Time, seven days a week at:

	 •	 1-888-254-3204	
	 •	 support@keirton.com

Fig. 1

Fig. 2

HOPPER x 1 1/4”–20 x 1” BOLT x 2 1/4”–20 x 7/8” BOLT x 2

7/16” WRENCH 9/64” ALLEN KEY

INSTALLATION INSTRUCTIONS

T 2  H O P P E R

PN: 21-10149A_REV00



T W I S T E R T R I M M E R . C O Mpg |  2

T 2  H O P P E R  I N S T A L L A T I O N

Attaching the Hopper to the T2 
Trimmer

	 1.	 Remove the hopper bolts from one side 	
		  of the T2 (see Fig. 3*).
	 2.	 Secure the hopper to the T2 with screws 	
		  and the acorn nuts removed during step 1.

		  •	 If connecting the hopper to the 	

			   side of the T2 with the safety 	

			   interlock, use the 1/4”–20 x 1” bolts 	
			   (see Fig. 4).
		  •	 If connecting the hopper to the 	
			   side of the T2 without the safety interlock, use a 1/4”–20 x 7/8” bolts (see Fig. 5).

*Fig. 3 shows both options, only remove the hopper bolts from one side of the T2.

Fig. 3

Fig. 5Fig. 4


